E| S AIAHE 1

&5 89/HMF ololx|

© HEINRICH KIPP WERK GmbH & Co. KG

[ ]

£2,DS,CH, A 22 EEldd

My

THE:

E AL

EM O]

73} *2| & AoHRC 55 +2)

e

EH DY 1HES QI u|A AF D™ AASELUCH 2T EHA F

7Ho| OhX LEAL E2 £0] o] 2|Mo| 23 1A FHE ZI0|E 2I5H &

A AERIS FIIE ZEIE 4 Lt

ol=:

DS n¥A &= SEE J¥ol wet =T ol Lol BixIE L CH

XEX.

=.
ST BY U DHA F00| 5H =22 S5 DA A50 XIS
Hetshd ZY 4 AUsLict

23 U
DS ™A &R
T3 LIA,
&% LE.

www.kipp.com - info@kipp.com 1/2



K1751_C

°
o4 =egHi AEl x S = =
HE| SEE A|AHZ DFA E2,DS, C(d, 1AM £, B2
=N
© L
12
B |<—-
B L1
__ Bi T
. A
, = A . !
— iy
b of (2o
H | 5 \0 D1 |
;
B=50/72
Z= 29
FEHS AAE Zof EI] L B H L1L2L3 B1 B2 H1 H2 D D1 D3 BN=&=% LiH|
AMehat QFLEAL QLA
K1751.0504423 50 C 44 50 25 2 241830 - 125 2 M5 M6 M10x30 5
K1751.0504453 50 C 44 50 25 2 241830 - 125 5 M5 M6 M10x30 5
K1751.0726523 72 C 65 72 40 2 352544 - 215 2 M6 M6 M14x1,5x50 8
K1751.0726553 72 C 65 72 40 2 352544 - 215 5 M6 M6 M14x1,5x50 8
K1751.1007023 100 C 70 100 43 2 3530 64 26 22 2 M8 M8 M14x1,5x50 10
K1751.1007053 100 C 70 100 43 2 3530 64 26 22 5 M8 M8 M14x1,5x50 10

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



